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Level —1 | Level -2 | Level -3
6.9 8.3 8
5.4 6.8 10.5
5.8 7.8 8.1
4.6 9.2 6.9

4 6.5 9.3
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I | 4245) | D(237) | C(238) | B(240)

II | B241) | C(245) | 4(243) | D(238)

III | D(241) | B(239) | C(241) | 4(239)
Yl

RBD- elds120 e S1s14el>ll aRUdl.

ENGLISH VERSION

Instructions :

ey
@)

All questions are compulsory.

Marks are indicated on right side.

For studying characteristics, the observation of a
population are 1, 5, 9, 11, 14, obtain all possible

samples of size 3 from it without replacement. Verify the
result E(y)=y. Also find V(¥).
OR

Write short notes :
(1) Cluster sampling method
(2) Systematic sampling method.
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Explain multi-stage Random sampling with an example.

OR
Prove that :

(1) V(yst )opt < V(.)_/st )prop

_ 1| & NN, -n)S?
(ii) V(yy)= NZ{IZ:{ o

1

Explain the principles of experimental design.

OR

Set up the analysis of variance for the following data :

Level —1 | Level -2 | Level -3
6.9 8.3 8
5.4 6.8 10.5
5.8 7.8 8.1
4.6 9.2 6.9

4 6.5 9.3

Analyse the following experimental design and give your

comment :

Block Treatment and Yield

I A(245) | D(237) | C(238) | B(240)
I | B41) | C(245) | 4(243) | D(238)
III | D(241) | B(239) | C(241) | A(239)

OR
Write advantages and disadvantages of RBD.
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